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2018(A) 20194(B)
[ .9 =x}AL 5,900 2.91 5,871 2.70 -29
.82 1,381 0.68 1,672 0.77 291
2.9 A& 2 167 0.08 171 0.08 4
3 K 3L A 2 APAE 2,043 1.01 1,355 0.62 -688
47]5}% REAT 2,309 .14 2,673 1.23 364
128022 50,904 | 25.13 71,692  33.01 20,788
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AV BA SRS e SR
V . H]- Q= x}AL 8,027 3.96 8,036 3.70 9
1. ER}R}AF 3,715 1.83 3,738 1.72 23
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1.2 duid = 19 0.01 12 0.01 -7
2.7 AFQ) 2 3,792 2.01 6,709 3.32 1 2,917
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T % A 188,463  100.00 202,181  100.00 | 13,718
[ EAZ 6,273 44.45 6,783  45.23 510
I A= 1,636 11.59 1,636 10.91
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T V.ol9]alol 2 6,313 4473 6,640 44.27 327
A& B &= A 14,113 100.00 14,998  100.00 885
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1. 9849 18,831 19,777 946
1. Al 8AIQIo ol 7,727 8,297 570
7}.0]xp20] 6,662 7,037 375
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2. AR AT 93 20l 11,104 11,480 376
I. ¥4y 13,387 14,213 826
LA BATG B AH]& 3,094 3,561 467
7}.0]xju] & 2,145 2,584 439
L 223 e 26 27 1
}.7]Elg Al & 923 950 27

2. ARG A &(ufE D 10,293 10,652 359
. uj&%o0]Q 5,444 5,564 120
IV. Toju]elata]y] 3,778 4,181 403

V. 9ol 1,666 1,383 -283

VI, 2K YAY] 710 563 -147
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X. WA H]& 123 113 -10
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